About the Proved of Ferma's Big Theorem

In 1621 Ferma, French great mathermaticina, pointed out:
when n) 2, indeterminate equation xU + y = z0 | there not
is any integer root. It is Ferma’s big theorem that was
not proved still over three hundred years.

There ,I have proved that the theorem is whole right.

Writer: EX = Y JEIL—S 50 1155  FH{E
BEIJING CHINA



Prove: when>2, indeterminate equation xM + yM =zl there not is
any integer recot (n=3,4,5,'--).
Triing: in the light of

xN + ¢y = 20 1)
taking assist map ,and getting:
M — gyl =2zN +tgg (2)
o )
.l
yh
zf (= xl +pll )

from (1)+(2) and (1)—(2) getting separately:

2exM =20 « (1+tgd) (3)

2.yl =20 - (1-tga) (4)
from (3)X (4) getting: ;

4« 0 .ynzzz-n -(l+tg8)-(l-tga)
taking evolution of n, and getting:

Jaex-y=2% -« Ji-tg? 3 (5)

lecoking (5) formula:
. n . " R . ot =
when n>2, \/-1- is an infinite no recurring decimal.
So: X,¥,Z are not able to ke integer at the same time.

To there: Ferma’ s Big Thecorem had was proved.

Annotation:
&, above mentiocned proof was suppose X>Y.
if: x=y
then: from (1) getting 2 = x = zI
then: iyﬁ--x =
; : n
then: %,z are not integer at the same time, hecause V/f

is an infinite no recurring decimal.
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B, {5) formula only is one change of (1},but in (5), '

reflects essence of Ferma's Big theorem.

when n=2, 9/4— = 2,

(5) formula becomes: 2 * x+y = z2 +./1-tg? @

select proper x» and y, and z can be an integer,
example: (x,vy,z) are (3,4,5), (6,8,10), (5,12,13), *=*--

It is reason to ask n>Z.

perhaps have a doubt there:

if there is & set x and y making & 1-tg? g to become

a product of Y7 and a rational number in (5)formula,
a

A

“thus =/ /4 is passed-away ?

No.
suppose: 1-tg% @= 4k (k is a rational number),

¥ —yD ¥ —yN 2
take tgg = ——— to get intor then 1-(———) =4kI
I 4yl x +yf
xM —yf
simplify: —— = /1-4k0
g

open up xM — yM = z0 « /1-4kD + y0 .« /1-4k
merge: xf . (1-/1-4K0 ) = vl (14+/1-4kD )

to multiply (14./1-4K0 ) both sides:

. (1-(1-akD )} = vP . (1+2./1-4k0 +(1-4%0 ))
4xN . %0 = Y0 . (242./1-4k0 —4x0 )

simplify:

1+./1-4k0 —230
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want to pass away /4 in (2) formula, it is insvitable

here is a relation of irratiocnal namber bstween x and y, obvicus

this 1s no rational.



